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LHTusEE X TPRSE

SFnsELA
EA HE2EMEAN BRTHASBUHES
B ERTHRRAEEEZES
1/ 2
(B4 FH)
BeE#H LEOTHE | EETRR W | BE
< BEEBILINE >
< A >
HFEGIA 10, 483 10, 534 A51
—BHELIRA 5, 882 5,983 A101
EABESELSOFA 5, 168 5, 458 A290
BEABEEOIRA 714 525 189
HUKER R T HVESIRA 4, 601 4,551 50
EANEGLSLOIA 4, 601 4, 551 50
REERSRA 100 100 0
ZAKERRESINA 50 50 0
BT AREZRSNA 50 50 0
HHEEBIIAG (1) 10, 583 10, 634 A51
< XH >
BERTH 313 313 0
HELBREIH 27 27 0
RS EHEREIH 74 42 32
ENRISY A3 2 1 60 83 A23)
BIEERETH 52 52 0
LFBET 7 7 0
LR 27 27 0
FHck 66 b7 9
HEFRXH 0 18 A18
#FAESE L XM 4,181 3,586 595
[ smwsrryyevEseXH 4,181 3, 586 595
B HE (2 4, 494 3,899 595
EEEDRSNEEER)=(1)-2) 6, 089 6, 735 A646
< MRBESICIANX > '
< A >
HERER SN A (1) 0 0 0
< x# >
FEEREBREX HE (6 0 0 0
HRBHEE SEEMH(6)=(1)-6) 0 0 0
< ZOHOFEBIIILIRE >
< RA >
HEARERBREIA 226 226 0
FL B OIA 226 226 0
Z DD TEBHIR AT (7) 226 226 0
< EH >
A PIERIRS K H 6, 402 7, 048 646
EE~OXH 6, 402 7, 048 A646
— B SREAE FEALS HEA) b, 881 5, 983 A102
BRRE SR & 421 965 Ab44
AERERBEELTS 50 50 0
B ERBERTE 50 50 0
ZDMOEBF IF (8) 6, 402 7,048 AB46
Z DD ESHE LINEER (9)=(1)-(8) A6, 176 A6, 822 646
FARE I (10) 0 0 0




FTSEE X THE

Af54E4 8
EA : HREAEA  BREHLSEL S ES
HE . BRTEFELEZEES
2/ 2
(B - T)
Bxe#dH LHTHRE | EETHRE M =
WU SN K ZEE AR (11) =(3) +(6) +(9)-(10) A87 A8T 0
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